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fgun/position O Q-G
{gun/direction, 0.0 1.0 0.035
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{gun/momentumSmearing 0.0 GeV
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/generator/generator particleGun

/gun/position 0_@~€
/gun/direction( 0.0 1.0 0.0
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/gun/momentumSmearing 0.0 GeV
/gun/phiSmearing 1 deg
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/gun/directionSmearingMode uniform
/gun/particle gamma
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TotalEn

125

120

115

110

105

o
i,
o

87.8 88 88.2 88.4 88.6 88.8 89

TotalEn:MCtheta

8 R

s_lII|III|III|III|II||III|III|III|III|III|III|I

ArborPFOs energy [GeV]
>

1 L I 1 1 1 L | 1 L 1 1 | L 1 L 1 I L 1 1 L I 1 1 1 L | 1 1 1 1 | ] 1 L 1
0015 70.01 70.005 0 0.005 0.01 0.015 0.02
lcos0|




E, deposite in Ecal amorproscolection)
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No. of hit in Ecal (ArborPFOsCollection)
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Combining result in Ecal

(ArborPFOsCollection) Reconstruction energy (combining E & hits)
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E, deposite in Ecal amorproscolection)
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No. of hit in Ecal (ArborPFOsCollection)

Reconstruction energy (No. of hit)
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Combining result in Ecal

(ArborPFOsCollection) Reconstruction energy (combining E & hits)
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Ey resolution with calibration (perfect cluster)
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E., vs No. of hit (ArborPFOs)
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P aram ete ' VS E (ArborPFOsCollection)
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P aram ete ' VS E (ArborPFOsCollection)
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P aram ete ' VS E (ArborPFOsCollection)
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P aram ete ' VS E (ArborPFOsCollection)

0.048

0.046

0.044

0.042

0.04

0.038

0.036

0.95

0.9

0.85

08

0.75

0.7

0.65

Graph
- VS ener,
C /\/ Y gy
'_ / \ Y
= —
L L —
20 40 60 80 100
MC Energy GeV
Graph
— |\ VS energy
E | . A
:_ l I} l I} I} I} l I} I} I} l I} I} I} l I}
20 40 60 80 100
MC Energy GeV

w 0.24
0.22
0.2
0.18
0.16
0.14
0.12
0.1
0.08

0.06

Graph

0 VS energy

"0

= =

P
100
MC Energy GeV

17



Combining result in Ecal
(ArborPFOsCollection) E=2E +(1-1)EX
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Combining result in Ecal

(ArborPFOsCollection) E=2E +(1-1)EX
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Combining result in Ecal
(ArborPFOsCollection) E=2E +(1-1)EX
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Combining result in Ecal
(ArborPFOsCollection) E=2E +(1-1)EX
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Combining result in Ecal
(ArborPFOsCollection) E=2E +(1-1)EX
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Combining result in Ecal
(ArborPFQOsCollection) E=2E" +(1-2)EX.
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Combining result in Ecal
(ArborPFQOsCollection) E=2E" +(1-2)EX.
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Combining result in Ecal
(ArborPFQOsCollection) E=2E" +(1-2)EX.
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)

EneaZas = a(fl.Eodd20 +(1_ﬂ)Eeven20)+b(ﬁEodd10 +(1_fﬂ2)Eeven10)

Reconstruction energy (deposit E)

N450

S }
5400 %H}
[

g

7350

300

250

200

150

100

50

a= 3.09 £0.34

mean = 47.898 + 0.013
n= 17 + 23

sigma = 1.3161 £ 0.0094

DO

52 54
Energy GeV

30



Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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Ey deposited (perfect cluster)
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